
C 

6 

10 

6 

6 

4 

(3)g , h, j, t 

DESCRIPTION 

5/ 16" x T' Grd 5 Hex Boll 

5/16" Washer 

5/16" Hea vy Lock Wa sher 

5/16" Grd 5 Hex Nut 

5/16" Tech Screws 

I /'Z' x 2.2S' Grd 5 Hex Bolt I o 16 19/16" Grd 5 hex Nut 

I/'l' Washer p 8 I 5/8" x 2 I /'l' Grd 5 Hex Bolt· 

f, g , h, j 
a , b , c, d 

C F 

B 

A 

B 
a , b , c , d 

C F 
f, g , h, j 

u 

ITEM I QTY DESCRIPTION 

h I 12 11 /'l' Heavy Lock Wa sher 

12 11 /'Z' Grd 5 Hex Nut 

16 l 9/16"x 3" Grd 5 Hex bo ll 

m I 16 19/16" SAE Wa sher 

n I 16 I 9 / 16" Hea vy Lock Washer 

DESCRIPTION ITEM I QTY 

5/8"Wa sher a I 8 

5/8" Hea vy Lock Washer 8 

5/8" Grd 5 Hex Nul 8 

4 I I /'l' Plasl ic Locking Plug 

Sq uare Tubing Plug u I 2 

R Q 

a , b , c,d 

F 

M 

DESCRIPTION 

ADDrnrmERANCEA NDF1N~HDETA1Ls 

ADDED LIGHT BARMouN11Nc BRAcw.sn•·rEcH scREW. AND ,,rwASHERs 

Aoorns1GNs1,NDANDA"ow,oARo. HncH,xTENsooN.ucHl8AP w""'"""""·""""o,.w.,c" 

D 

k, m, n, o 

p 

k, m , n, o 

D 

J 
k ,m, n, o 

u 

DATE 

0612112018 

09/27/201 8 

0912112018 

K 

UNLESS OTHERWISE SPECIFIED: 
DIMENSIONS ARE IN INCHES 
SURFACE: HOT DIP GALVANIZEDl---
TOLERANCE: Gregory Industries Inc. LINEAR: !1 / 16" 41 00 13th Street 'sw 

BOLT HOLE:+ 1 /16", -0" Canton, Ohio 4471 o 
ANGULAR: ! 1 • Phone: 330-447-4800xl 23 

u 2 

V I 

w I 

X I 

DESCRIPTION 

Impact Head 

Bursting Mand re l 

Firs! Tube 

Traile r Frame 

Axle Assem bly 

Plastic Guide Plates 

End c o ps (R-righ l , L-lefl) 

Hitch Assem bly 

Spacer 

Commercial Ja ck 

Fender Assembly (R-righl, L-le fl ) 

Tire and Rim 

Lunelle (8 Ions) 

Lig ht Bar 

Lig ht Bar Mounting Brockel 

Arrowboa rd a nd Sta nd (Op lional) 

Winch (Op lional) 

Whelen Lights (Optional) 

Steel Ballast Plate (Optional) 

Hitch Extension (Optional) 

Battery Box (Optional) 

TTMA-200 
Assembly -

11291 '20 19 
- ~- ,., 

1:50 JMS /::o. 

ITEM 

a 

b 

d 

e 

QTY 

-8 

g I 20 

I REV 

A 

B 

c 

ITEM 

A 

B 

C 

D 

E 

F 

G 

H 

K 

M 

p 

Q 

R 

QTY 

I 

2 

2 

I 

I 

4 

2 

I 

8 

I I 

2 

2 

I 

I 

4 

I 

._,,.,,._ 
TTMA-200 

u 

8'0" 
[2.4ml 

R 

u 

s 

2'5¾"[759mm] 
Upper Posit ion 

- -----,----1 
100 


